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àíZn{ÌH$m gmoS>{dÊ¶mnydu H¥$n¶m Imbrb gyMZm H$miOrnyd©H$ dmMm …

(1)	 ¶m àíZn{ÌHo$V XmoZ {d^mJ AmhoV. Ë¶mn¡H$s {d^mJ I ‘Ü¶o àW‘ ^mfm {df¶mgmR>r 1 Vo 25 d {d^mJ II ‘Ü¶o J{UV 
{df¶mgmR>r 26 Vo 75 Ago EHy$U 75 àíZ AmhoV. gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

(2)	 àË¶oH$ àíZmgmR>r 2 JwU AmhoV.
(3)	 àíZn{ÌH$m gmoS>{dÊ¶mgmR>r EHy$U 90 {‘{ZQ>m§Mm H$mbmdYr {Xbm OmB©b.
(4)	 CÎmao Zm|X{dÊ¶mgmR>r ñdV§Ì CÎman{ÌH$m {Xbobr Amho. àË¶oH$ àíZH«$‘m§H$mg‘moa Mma n¶m©¶mgmR>r H«$‘mJV dVw©io 

{Xbobr AmhoV. Ë¶mVrb AMyH$ CÎmamMm n¶m©¶ H«$‘m§H$ Agbobo dVy©i nwT>rb CXmhaUmV XmI{dë¶mà‘mUo a§Jdm. 
CXm. àíZ H«$. 6 À¶m ~amo~a CÎmamMm n¶m©¶ H«$. 2 Agob, Va Vmo nwT>rbà‘mUo Zm|Xdmdm.

	 àíZ H«$. 6 	 1 1 3 4
(5)	 Imbrbà‘mUo Zm|X{dbobr CÎmao J«mø YaÊ¶mV ¶oUma ZmhrV. Ago CÎma Zm|X{dë¶mg Ë¶m àíZmg "eyÝ¶' JwU {Xbo 

OmVrb.   		 1 2 4

(6)	 àË¶oH$ àíZmgmR>r EH$mnojm A{YH$ dV©wimV Zm|X{dbobr CËVao, ImS>mImoS> H$ê$Z Zm|X{dbobr CËVao J«mø YaÊ¶mV ¶oUma 
ZmhrV.

(7)	 EH$Xm Zm§oX{dbobr CÎmao nwÝhm ~XbVm ¶oUma ZmhrV.
(8)	 n¶m©¶mMr CÎmao Zm|X{dVmZm ’$³V H$mù¶m qH$dm {Zù¶m a§JmÀ¶m ~m°bnoZMmM dmna H$amdm. nopÝgbZo Zm§oX{dbobr CËVao 

J«mø YaÊ¶mV ¶oUma ZmhrV.
(9)	 àíZn{ÌHo$V àË¶oH$ nmZmda Imbr d eodQ>À¶m nmZmda H$ƒo H$m‘ H$aÊ¶mgmR>r ‘moH$ir OmJm Amho, VoWoM H$ƒo H$m‘ 

H$amdo.
(10)	 narjog ‘¶m©{XV doi Agë¶mZo EImXçm àíZmMo CËVa Vwåhmbm ¶oV Zgë¶mg nwT>rb àíZ gmoS>dm. eodQ>r doi {eëbH$ 

am{hë¶mg Caboë¶m àíZm§gmR>r nwÝhm à¶ËZ H$amdm.
(11)	 EImXçm àíZmV ÌwQ>r/MyH$ AmT>ië¶mg Ë¶m~m~V n¶©dojH$ qH$dm narjm H|$Ðg§MmbH$ ¶m§À¶mH$S>o {dMmaUm H$ê$ Z¶o.
(12)	 àíZmVrb ÌwQ>r/MyH$/Amjonm~m~VMo {ZdoXZ emioZo qH$dm nmbH$m§Zr JQ>{ejUm{YH$mar qH$dm {ejUm{YH$mar ¶m§À¶mH$S>o 

boIr ñdê$nmV Z nmR>dVm g§~§{YV emioÀ¶m bm°JrZ ‘YyZ Am°ZbmB©Z nÕVrZoM nmR>dmdo.
(13)	 ÌwQ>r/MyH$/Amjonm~m~VMo {ZdoXZ Am°ZbmB©Z nÕVrZo nmR>{dÊ¶mMr ‘wXV narjm n[afXoÀ¶m g§Ho$VñWimda A§V[a‘ 

(VmËnwaVr) CËVagyMr à{gX²Y Pmë¶mnmgyZ 10 (Xhm) {Xdgm§n¶ªV amhrb.
(14)	 ‘wÐUXmof qH$dm AÝ¶ H$maUm§‘wio àíZ MwH$sMm Agë¶mMo AmT>ië¶mg Vk g{‘VrÀ¶m A{^àm¶mZwgma ¶mo½¶ Vr 

H$m¶©dmhr Ho$br OmB©b.
(15)	 ‘yi ‘mÜ¶‘mgmo~V B§J«Or ^mfoVrb àíZn{ÌH$m {Xbobr Amho. ‘yi ‘mÜ¶‘mVrb g§{X½Y àíZm§~m~V B§J«Or àíZ nhmdoV.

nona H«$. - I

doi : 11:00 Vo 12:30	 ‘mÜ¶‘ … ‘amR>r	
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

{d^mJ - I

‘amR>r

àíZ H«$. 01 Vo 03 gmR>r gyMZm -  

	 CVmam dmMyZ Ë¶mda AmYm[aV {dMmaboë¶m àíZm§Mr CÎmao n¶m©¶mVyZ {ZdS>m.

	�	  IoS>rnmS>r AmZ§XmV hmoVr. ^r_m, nyUm©, Vmnr, H¥$îUm gwàgÞ dmhV hmoË¶m. ghçmÐr 
d gmVnwS>m {Zdm§V nhþS>bo hmoVo. àË¶oH$ KamV Z§XmXrn àem§V VodV hmoVo. A§JUm_Ybr 
Vwierd¥§XmdZo _§{Oè¶m§Zr S>déZ S>mobV hmoVr. Amogè¶m§darb Pmonmio _wbr~mitZr JO~OyZ 
Amoì¶m JmV hmoVo. XþîH$mi R>mD$H$M ZìhVm. JmoR>çm§V JmB©dmgam§Mr XmQ>r hmoVr. gm§OgH$mi 
Vwiernmer {Xdo bmJV hmoVo. JmoJ«mg KmVë¶m{edm¶ J¥{hUr OodV ZìhË¶m. Hw$UmMrhr bú‘r 
gmoÝ¶m‘moË¶m§dmMyZ [aVr ZìhVr. nmoao~mio, boH$sgwZm, eoVo^mVo, Jwaodmgao, newnjr AmZ§VXmV 
hmoVo. PmS>o PwS>no gwX²Ym! ‘hmamîQ>´mda bú‘r àgÞ hmoVr.

01. IoS>rnmS>r AmZ§XmV hmoVr ho H$moUË¶m JmoîQ>rVyZ H$iVo?

A) ZXçm gwàgÞ dmhV hmoË¶m.

~) XþîH$mi R>mD$H$M ZìhVm.

H$) JmoR>çmV JmB©dmgam§Mr XmQ>r hmoVr.

S>) ‘hmamîQ´>mda bú‘r àgÞ hmoVr.

(1)	 ’$³V "A' ~amo~a		

(2)	 ’$³V "~' d "H$' ~amo~a

(3)	 "A', "~', "H$', "S>' ~amo~a	

(4)	 ’$³V "S>' ~amo~a

02. CVmè¶mV {H$Vr OmoS>eãX Ambo AmhoV?>

(1)	 Xhm			   (2)	 ~mam

(3)	 AH$am			   (4)	 ZD$
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03. "JmoJ«mg' ¶m eãXmMm Imbrbn¡H$s AW© H$moUVm?

(1)	 Jm¶ JdV ImVo.			   (2)	 Jm¶ JdVmMm Kmg KoVo.

(3)	 JmB©bm Jmo‘mVm åhUVmV.	 (4)	 JmB©bm KmVbobm Kmg.

àíZ H«$. 04 Vo 06 gmR>r gyMZm - 

	 Imbrb H${dVm dmMyZ Ë¶mda AmYm[aV {dMmaboë¶m àíZm§Mr CËVao n¶m©¶m§VyZ {ZdS>m.

a§Ja§Jwë¶m, gmZgmZwë¶m, JdV’w$bm ao JdV’w$bm!
Agm H$gm ao ‘bm bmJbm, gm§J VwPm ao VwPm bim!

{‘Ìm§g§Jo ‘mimdaVr, nV§J CS>{dV {’$aVmZm
Vwbm nm{hbo JdVmdaVr, PwbVm PwbVm hgVmZm,
{dgê$Z Jobmo nV§J Z{^Mm, {dgê$Z Jobmo {‘Ìmbm
nmhþZ VwObm haIyZ Jobmo, Aem VwÂ¶m ao a§JH$im!

{hadr ZmOwH$ ao{e‘�nmVr, XmoZ ~mO§ybm gigiVr
Zri{Ziybr EH$ nmH$ir, namJ {ndio PJ‘JVr,
Vir nwÝhm AZ² Jmo{OadmUr, bmb nmH$ir IwbVr ao
CÝhm‘Ümo ho a§J nmhVm, ^mZ hanwZr Jobo ao!

dmam KoD$Z ê$n gmZwbo, Ioi IoiVmo Pmonmim
amÌ{h Bdbr hmoD$Z åhUVo, A§JmB©Mo JrV Vwbm,
‘bm hr dmQ>o bhmZ hmoD$Z, VwÂ¶mhÿZhr bhmZ ao
VwÂ¶mg§JVr gXm ahmdo, {dgê${Z emim, Ka gmao!

04. ¶m H${dVoV H$moUmMo dU©Z Ho$bo Amho?

(1)	 {‘Ìm§g§Jo IoiÊ¶mMo		  (2)	 JdV’w$bmMo

(3)	 JdVmMo			   (4)	 dmam Am{U Pmonmim ¶m§Mo
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05. H${dVoV Amboë¶m {deofU Am{U Zm‘ ¶m§Mr ~amo~a OmoS>r H$moUVr?

(1)	 bmb nmH$ir			   (2)	 {Zio namJ

(3)	 Bdbr nmVr			   (4)	 H$mir amÌ

06. Imbrbn¡H$s MwH$sMo {dYmZ H$moUVo?

(1)	 JdV’w$bm Vwbm nmhÿZ ‘r haIyZ Jobmo.	
(2)	 VwPo a§J nmhVmZm ^mZ hanyZ Jobo.

(3)	 emim, Ka {dgéZ VwÂ¶m~amo~a Zoh‘r amhmdo.

(4)	 ‘r Vwbm A§JmB©Mo JrV Jmdo.

07. Imbrb dm³¶m‘Ü¶o EHy$U {H$Vr gd©Zm‘o Ambr AmhoV?

Vr Ë¶mbm åhUmbr, ""‘r Vwbm Ë¶m KamOdiyZ ¶oVmZm nm{hbo åhUyZ Amåhr Wm§~bmo''.

(1)	 nmM			   (2)	 ghm

(3)	 Mma			   (4)	 gmV

08. dMZmZwgma JQ>mer OwiUmao nX n¶m©¶mVyZ {ZdS>m.

KS>m, gS>m, IS>m............

(1)	 KmoS>m			   (2)	 H$S>o

(3)	 PmS>m			   (4)	 ‘mS>

09. Imbrbn¡H$s ^{dî¶H$mir dm³¶ H$moUVo?

(1)	 ‘Ywam nmUr {nVo.			  (2)	 ‘mPo OodU Pmbo.

(3)	 ‘r Mm§Jbo ^mfU H$aoZ.	 (4)	 Vmo Jmdmbm Jobm hmoVm.

10. ¶mo½¶ {dYo¶ dmnéZ dm³¶ nyU© H$am.

O¶lrZo..........

(1)	 Aja gw§Xa Amho.			  (2)	 ‘¡XmZmda Jobr.

(3)	 BH$S>o ¶o.			   (4)	 N>mZ H${dVm Ho$br.
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11. nwT>rb n¶m©¶mVyZ ewX²Y eãX AmoiIm.

(1)	 àmW©Zm			   (2)	 àmW©Um

(3)	 nmW©Zm			   (4)	 àmWZm

àíZ H«$. 12 Vo 14 gmR>r gyMZm -  

	 Imbrb g§dmX dmMyZ {dMmaboë¶m àíZm§Mr CÎmao n¶m©¶mVyZ {ZdS>m.

	 ""‘m‘m ‘m‘rbm gm§J nwT>À¶m ‘{hÝ¶mV 5/6 VmaIobm Vw‘À¶mH$S>o ¶oVmo¶.''

	 ""H$moUmMm ’$moZ hmoVm J§ JrVm?''

	 ""�AmB©, XrárMm ’$moZ hmoVm. AmË¶m, {Xny, Xrár gJioM nwT>À¶m ‘{hÝ¶mV Jmdr ¶oUma 
AmhoV.''

	 ""AJ§, nwT>À¶m ‘{hÝ¶mV åhUOo Z³H$s {H$Vr VmaIobm ¶oUma AmhoV?

	 ""AaoÀ¶m! VmarIM {dgaboJ§ ‘r.''

	 ""AJ§, bjmV amhmV Zgob Va [bhÿZ R>odmd§.''

	 ""hmo ~m~m, [bhÿZ R>odb¶. ho ~Km. 5 qH$dm 6 VmaIobm.''

	 ""~K! ~a Pmb§ Zm {bhrbg Vo.''

12. darb g§dmXmV {H$Vr ì¶³VtMm CëboI Amho?

(1)	 nmM			   (2)	 gmV

(3)	 ghm			   (4)	 AmR>

13. ""AaoÀ¶m! VmarI {dgaboM J§ ‘r.'' Ago JrVm H$moUmbm åhUmbr?

(1)	 ~m~m			   (2)	 AmB©

(3)	 AmË¶m			   (4)	 Xrár

14. AmË¶m, Xrár Am{U {Xny Jmdmbm Ho$ìhm OmUma AmhoV?

(1)	 5 VmaIobm			   (2)	 6 VmaIobm

(3)	 nwT>À¶m ‘{hÝ¶mV			   (4)	 nwT>À¶m ‘{hÝ¶mV 5/6 VmaIobm
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15. Mm¡H$Q>rV {Xboë¶m Ajam§nmgyZ V¶ma hmoUmè¶m åhUrVrb 5, 6 d 7 H«$‘m§H$mMr Ajao 
KoDZ ¶oUmè¶m eãXmMm {dê$X²YmWu eãX H$moUVm?

d Jw ~m bm Z

qe C im T>

d am Vm

½¶m J

(1)	 Zdar			   (2)	 MT>U
(3)	 Imbr			   (4)	 hþema

16. Imbrb dm³¶ Mma ^mJmV {d^mJbo Amho. Ë¶mVrb MwH$sMm ^mJ AmoiIm.

‘S>³¶m§Mr  Wßnr  bmdbr  hmoVr.
(1)	 ‘S>³¶m§Mr			   (2)	 bmdbr
(3)	 Wßnr			   (4)	 hmoVr

17. "‘oO' hm H$moUË¶m B§J«Or eãXmbm n¶m©¶r eãX Amho?
(1)	 ao{S>Amo			   (2)	 do~
(3)	 ’$moZ			   (4)	 Q>o~b

18. Imbrb dm³¶mVrb AmYmoao{IV eãXmMm g‘mZmWu Zgbobm AMyH$ eãX H$moUVm?
gdmªZr nmÊ¶mMr ~MV H$amdr.
(1)	 {Z‘©i			   (2)	 OrdZ
(3)	 gbrb			   (4)	 Ob

19. nwT>rbn¡H$s Ab§H$m[aH$ eãX AmoiIm.
A) AjaeÌy	 ~)	 AZmg³V	 H$)	 Xoe^³V	 S>)	 AaÊ¶n§{S>V
(1)	 ’$³V "A'			   (2)	 ’$³V "S>'
(3)	 ’$³V "A' Am{U "S>'		 (4)	 ’$³V "~' Am{U "H$'
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20. "{VR>m' hm eãX H$moUË¶m eãXg‘whm~X²Xb Ambm Amho Vo n¶m©¶mVyZ {ZdS>m.

(1)	 Mma añVo OoWo EH$Ì {‘iVmV.	 (2)	 VrZ añVo OoWo EH$Ì {‘iVmV.

(3)	 KmQ>mVrb añVm.			   (4)	 nwbmdéZ OmUmam añVm.

21. JQ>mV Z ~gUmam eãX emoYm.

(1)	 PmS>odobr			   (2)	 PmS>oPwS>no 

(3)	 PmS>m§da			   (4)	 PmS>PmS>moam

22. nwT>rb {nbwXe©H$ eãXm§Mr MwH$sMr OmoS>r AmoiIm.

(1)	 eoirMo - H$aSy>			   (2)	 åh¡g - H$moH$é

(3)	 KmoS>m - qeJé			   (4)	 h[aUr - nmS>g

23. {Xbobr Ajao OwidyZ AW©nyU© eãX ~Zdm d Ë¶m eãXmVrb n{hë¶m VrZ Ajam§nmgyZ 
~Zboë¶m eãXmMm AW© AmoiIm.

^, A, d, {V, Wr, Z

(1)	 nmhþUm			   (2)	 {Xdg

(3)	 gXZ			   (4)	 Ka

24. ñdÀN>, ñdmJV, ñdmW©, ñdßZ, ñdam ho eãX dUm©ZwH«$‘o bmdë¶mg ‘Ü¶^mJr H$moUVm eãX 
¶oB©b?

(1)	 ñdÀN>			   (2)	 ñdam

(3)	 ñdßZ			   (4)	 pñdH$ma

25. nwT>rbn¡H$s AMyH$ OmoS>rMm n¶m©¶ H«$‘m§H$ {ZdS>m 

(1)	 {ejU {XZ - 11 Zmoìh|~a	 (2)	 ~m{bH$m{XZ - 14 Zmoìh|~a

(3)	 hþVmË‘m{XZ - 2 Am°³Q>mo~a	 (4)	 {dkmZ {XZ - 29 ’o$~w«dmar 
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SPACE FOR ROUGH WORK

SECTION - II

MATHEMATICS

26. 5 dozen + 2 gross = ? dozens

(1)	 28			   (2)	 29

(3)	 25			   (4)	 27

27. The numbers divisible by 37 are arranged in ascending order. What will be 
the number at the sixth place?

(1)	 148			   (2)	 185

(3)	 111			   (4)	 222

28. If 12th August 2017 was Saturday, then which days would occur 5 times in 
August?

(1)	 Thursday, Friday, Saturday	 (2)	 Sunday, Monday, Tuesday

(3)	 Tuesday, Wednesday, Thursday	 (4)	 Wednesday, Thursday, Friday

29. If the difference between two decimal fractions is 4.585 and one of the fractions 
is 3.256, then what is the other decimal fraction?

(1)	 1.329			   (2)	 7.851

(3)	 1.349			   (4)	 7.841

30. Choose the incorrect option.

(1)	 100 m = 1 hectometer	 (2)	 1000 l = 1 kilo liter

(3)	 1 kg = 10 hectogram	 (4)	 1 gm = 100 decigram
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{d^mJ - II

J{UV

26. 5 S>PZ + 2 J«mog = {H$Vr S>PZ?

(1)	 28			   (2)	 29

(3)	 25			   (4)	 27

27. 37 Zo {d^mÁ¶ Agboë¶m g§»¶m MT>Ë¶m H«$‘mZo ‘m§S>ë¶mg ghmì¶m ñWmZmda H$moUVr g§»¶m 
¶oB©b?

(1)	 148			   (2)	 185

(3)	 111			   (4)	 222

28. 12 Am°JñQ> 2017 amoOr e{Zdma hmoVm Va Ë¶m ‘{hÝ¶mV Imbrbn¡H$s H$moUVo dma nmM 
doim ¶oVrb?

(1)	 Jwédma, ewH«$dma, e{Zdma	 (2)	 a{ddma, gmo‘dma, ‘§Jidma

(3)	 ‘§Jidma, ~wYdma, Jwédma	 (4)	 ~wYdma, Jwédma, ewH«$dma

29. XmoZ Xem§e AnyUmªH$mVrb ’$aH$ 4.585 Amho. Ë¶mn¡H$s EH$ Xem§e AnyUmªH$ 3.256 Agob 
Va Xþgam Xem§e AnyUmªH$ H$moUVm?

(1)	 1.329		  	 (2)	 7.851

(3)	 1.349	 	 	 (4)	 7.841

30. Imbrbn¡H$s MwH$sMm n¶m©¶ {ZdS>m.

(1)	 100 ‘r. = 1 ho³Q>mo ‘r.	 (2)	 1000 br. = 1 {H$bmo brQ>a

(3)	 1 {H$.J«°. = 10 ho³Q>mo J«°‘	 (4)	 1 J«°‘ = 100 S>o{g J«°‘
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31. Find the percentage of the shaded portions in the adjoining figure.

(1)	 25 %			   (2)	 4 %

(3)	 75 %			   (4)	 7 %

32. What is the difference between the smallest 3 digit odd number and the greatest 
2 digit even number?

(1)	 5				   (2)	 7

(3)	 0				   (4)	 3

33. What is the difference between the first and the last number if 5.435, 5.084, 
5.123, 5.064 are arranged in ascending order.

(1)	 0.371			   (2)	 0.351

(3)	 0.312			   (4)	 0.361

34. Vijayrao purchased 30 dozen oranges at the rate of Rs. 50 per dozen. 15 oranges 
were spoiled. He sold the remaining oranges at Rs. 6 per orange. How much 
profit or loss did he earn in this transaction?

(1)	 Profit of Rs. 570		  (2)	 Loss of Rs. 570

(3)	 Loss of Rs. 345		  (4)	 Profit of Rs. 345
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31. Imbr {Xboë¶m AmH¥$VrVrb aoIm§{H$V ^mJmMr eoH$S>odmar H$mT>m.

(1)	 25 %			   (2)	 4 %

(3)	 75 %			   (4)	 7 %

32. VrZ A§H$s bhmZmV bhmZ {df‘ g§»¶m d XmoZ A§H$s ‘moR>çmV ‘moR>r g‘ g§»¶m ¶m‘Yrb 
’$aH$ {H$Vr?

(1)	 5			   (2)	 7

(3)	 0			   (4)	 3

33. 5.435, 5.084, 5.123, 5.064 ¶m g§»¶m MT>Ë¶m H«$‘mZo ‘m§S>ë¶mg n{hbr d eodQ>Mr 
g§»¶m ¶m‘Yrb ’$aH$ {H$Vr?

(1)	 0.371			   (2)	 0.351

(3)	 0.312			   (4)	 0.361

34. {dO¶amdm§Zr < 50 S>PZ ¶m XamZo 30 S>PZ g§Ìr {dH$V KoVbr. Ë¶mn¡H$s 15 g§Ìr 
Iam~ Pmbr. Cabobr gd© g§Ìr Ë¶m§Zr < 6 à{V g§Ìo ¶m XamZo {dH$br. Va Ë¶m§Zm ¶m 
ì¶dhmamV {H$Vr Z’$m AWdm VmoQ>m Pmbm?

(1)	 < 570 Z’$m			   (2)	 < 570 VmoQ>m

(3)	 < 345 VmoQ>m			   (4)	 < 345 Z’$m
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35. If 15 kg 500 gm of rice is filled in a box then how much rice will be required 
to fill 10 such boxes?

(1)	 115 kg			   (2)	 155 kg

(3)	 1150 kg			   (4)	 150 kg

36. A bottle can contain 125 ml of scented oil. How many bottles will be required 
to fill 4 l of scented oil?

(1)	 32			   (2)	 24

(3)	 50			   (4)	 34

37. 3 ∆ 4  is completely divisible by 6. Which numbers will occur in place of 
 and ∆ respectively?

(1)	 3, 2			   (2)	 3, 4

(3)	 2, 3			   (4)	 5, 1

38. Which fraction of the following options does not indicate the equivalent fraction 
of the unshaded portion in the given figure?

(1)	 6
4 			   (2)	 3

2

(3)	 3
1 			   (4)	 12

8
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35. EH$m S>ã¶mV 15 {H$. 500 J«°‘ Vm§Xÿi ^abo Va 10 S>ã¶mV {H$Vr Vm§Xÿi ‘mdVrb?

(1)	 115 {H$.			   (2)	 155 {H$.

(3)	 1150 {H$.			   (4)	 150 {H$.

36. EH$m ~mQ>brV 125 {‘br. gwdm{gH$ Vob ^abo. Va 4 brQ>a gwdm{gH$ Vob ^aÊ¶mgmR>r 
{H$Vr ~mQ>ë¶m bmJVrb?

(1)	 32			   (2)	 24

(3)	 50			   (4)	 34

37. 3 ∆ 4  ¶m g§»¶obm 6 Zo {Z…eof ^mJ OmVmo Va  d ∆ À¶m OmJr AZwH«$‘o 
H$moUVo A§H$ AgmdoV? 

(1)	 3, 2			   (2)	 3, 4

(3)	 2, 3			   (4)	 5, 1

38. gmo~V {Xboë¶m AmH¥$VrVrb Imbrbn¡H$s H$moUVm AnyUmªH$ aoIm§{H$V Z Ho$boë¶m ^mJmMm 
g‘‘yë¶ AnyUmªH$ Xe©dV Zmhr?

(1)	 6
4 			   (2)	 3

2

(3)	 3
1 			   (4)	 12

8



0101-Marathi Set-A 	  14 of 32	  Contd...

SPACE FOR ROUGH WORK

39. In how many years the principle amount of Rs. 4,000 will get double at the 
rate of 10 % p.a. by simple interest?

(1)	 20			   (2)	 10

(3)	 5 			   (4)	 2

40. In the adjoining figure, by how much is the number of triangles more or less 
than that of number of rectangles?

(1)	 more by 2			   (2)	 less by 2

(3)	 more by 4			   (4)	 less by 4

41. Which of the following options has the place value of 5, the least?

(1)	 54,389			   (2)	 49,385

(3)	 45,389			   (4)	 74,592

42. Choose the incorrect option from the given alternatives.

(1)	 7
3  of 28 = 12			  (2)	 15 of 5

4  = 12	

(3)	 7
6  of 14 = 12			  (4)	 18 of 9

8  = 12		
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39. < 4,000 10% XamZo gaiì¶mOmZo {H$Vr df© ~±Ho$V R>odbo AgVm {‘iUmar EHy$U a³H$‘ 
‘wX²XbmÀ¶m XþßnQ> Agob? 

(1)	 20			   (2)	 10

(3)	 5			   (4)	 2

40. Imbrb AmH¥$VrVrb {ÌH$moUm§Mr g§»¶m hr Mm¡H$moZm§À¶m g§»¶onojm {H$VrZo H$‘r AWdm 
OmñV Amho?

(1)	 2 Zo OmñV			   (2)	 2 Zo H$‘r

(3)	 4 Zo OmñV			   (4)	 4 Zo H$‘r

41. Imbrbn¡H$s H$moUË¶m n¶m©¶mVrb 5 ¶m A§H$mMr ñWm{ZH$ qH$‘V H$‘r Amho?

(1)	 54,389			   (2)	 49,385

(3)	 45,389			   (4)	 74,592

42. Imbr {Xboë¶m n¶m©¶m§n¡H$s A¶mo½¶ n¶m©¶ {ZdS>m.

(1)	 28 Mr 3
7

 nQ> = 12		 (2)	 4
5
 Mr 15 nQ> = 12

(3)	 14 Mr 6
7

 nQ> = 12		 (4)	 8
9
 Mr 18 nQ> = 12
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43. 504 m long wire is cut at 8 places at equal distance. What will be the length 
of each piece?

(1)	 68 m			   (2)	 63 m

(3)	 56 m			   (4)	 54 m

44. Write the correct option from the given alternatives.

(1)	 (20 + 5) ÷ 5 = 20 ÷ 5 + 5	 (2)	 7 × 8 + 5 = 5 + 8 × 7

(3)	 105 ÷ 3 > 4 × 9		  (4)	 100 × 10 ÷ 1 < 100 ÷ 10 × 10

45. By how much is the sum of number edges and vertices of a cuboid, more 
than the difference of the number of edges and faces of a cube?

(1)	 8 			   (2)	 12

(3)	 14			   (4)	 6

46. Harjeet took a loan of Rs. 20,000 from a bank at the rate of 7 p.c.p.a. for 3 
years. How much simple interest will he have to pay to the bank?

(1)	 Rs. 4,200			   (2)	 Rs. 4,300

(3)	 Rs. 4,380			   (4)	 Rs. 2,400

47. Complete the following series.

 _________

(1)	 		  (2)	

(3)	 		  (4)	
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43. 504 ‘rQ>a Vma 8 {R>H$mUr H$mnyZ {VMo g‘mZ VwH$S>o Ho$bo Va àË¶oH$ VwH$S>çmMr bm§~r 
{H$Vr Agob?

(1)	 68 ‘r.			   (2)	 63 ‘r.

(3)	 56 ‘r.			   (4)	 54 ‘r.

44. Imbrbn¡H$s H$moUVm n¶m©¶ AMyH$ Amho Vo {bhm.

(1)	 (20 + 5) ÷ 5 = 20 ÷ 5 + 5	 (2)	 7 × 8 + 5 = 5 + 8 × 7

(3)	 105 ÷ 3 > 4 × 9		  (4)	 100 × 10 ÷ 1 < 100 ÷ 10 × 10

45. BpîQ>H$m{MVrÀ¶m H$S>m d {eamoq~Xÿ§Mr EHy$U ~oarO hr KZmÀ¶m H$S>m d n¥îR>m§À¶m dOm~mH$snojm 
{H$VrZo OmñV Amho?

(1)	 8			   (2)	 12

(3)	 14			   (4)	 6

46. ha{OVqgJZo ~±Ho$VyZ < 20,000 X.gm.X.eo. 7 XamZo 3 dfmªgmR>r gaiì¶mOmZo KoVbo Va 
Ë¶mbm ~±Ho$bm {H$Vr ì¶mO Úmdo bmJob?

(1)	 < 4,200 			   (2)	 < 4,300

(3)	 < 4,380 			   (4)	 < 2,400

47. Imbrb AmH¥${V~§Y nyU© H$am.

 

(1)	 		  (2)	

(3)	   		 (4)	
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48. How many times 4
3  should be added to 4

3 , to get the addition 3?

(1)	 4 			   (2)	 3

(3)	 5 			   (4)	 2

49. In a market, if the cost of 17 boxes of mangoes is Rs. 6,035, then what will 
be the price of 25 such boxes?

(1)	 Rs. 355			   (2)	 Rs. 8,875

(3)	 Rs. 8,625			   (4)	 Rs. 345

50. Maria had to reach for a seminar at 10.30 a.m. but her vehicle got punctured 
and she got late by 45 min. Then at what time did she reach for the seminar?

(1)	 11.30 min			   (2)	 11.45 min

(3)	 1.30 min			   (4)	 11.15 min

51. Which of the following options is incorrect?

(1)	 Any number multiplied by zero, gives the same number.

(2)	 Any number multiplied by zero, gives zero as the product.

(3)	 Any number divided by 1 gives the same number as quotient.

(4)	 Any number divided by the same number gives 1 as quotient.

52. How many 2 digit numbers have 6 in them?

(1)	 19			   (2)	 17

(3)	 18			   (4)	 21
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48. 4
3  ¶m AnyUmªH$mV 4

3  {H$Vr doim {‘i{dë¶mg ~oarO 3 ¶oB©b?

(1)	 4			   (2)	 3

(3)	 5			   (4)	 2

49. ~mOmam‘Ü¶o 17 Am§ã¶mÀ¶m noQ>çm§Mr qH$‘V < 6,035 Amho, Va Aem 25 Am§ã¶mÀ¶m 
noQçm§Mr qH$‘V {H$Vr? 

(1)	 < 355 			   (2)	 < 8,875 

(3)	 < 8,625 			   (4)	 < 345 

50. ‘mar¶mbm go{‘ZmagmR>r gmS>o Xhm dmOVm nmohmoMm¶Mo hmoVo. na§Vw JmS>r n§³Ma Pmë¶m‘wio 
{Vbm nmDU Vmg C{ea Pmbm, Va Vr {H$Vr dmOVm go{‘Zmabm nmohmoMbr?

(1)	 11 dm. 30 {‘.			  (2)	 11 dm. 45 {‘.

(3)	 1 dm. 30 {‘.			   (4)	 11 dm. 15 {‘.

51. Imbrbn¡H$s H$moUVo {dYmZ A¶mo½¶ Amho?

(1)	 H$moUË¶mhr g§»¶obm eyÝ¶mZo JwUë¶mg JwUmH$ma VrM g§»¶m ¶oVo.	

(2)	 H$moUË¶mhr g§»¶obm eyÝ¶mZo JwUë¶mg JwUmH$ma eyÝ¶ ¶oVmo.

(3)	 H$moUË¶mhr g§»¶obm EH$ Zo ^mJë¶mg ^mJmH$ma VrM g§»¶m ¶oVo.

(4)	 H$moUË¶mhr g§»¶obm Ë¶mM g§»¶oZo ^mJë¶mg ^mJmH$ma EH$ ¶oVmo.

52. XmoZ A§H$s g§»¶oV 6 hm A§H$ Agboë¶m g§»¶m {H$Vr?

(1)	 19			   (2)	 17

(3)	 18			   (4)	 21
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53. What remains if 10 is subtracted from 10 % of 200?

(1)	 10			   (2)	 20

(3)	 180			   (4)	 190

54. Which of the pairs is neither co-prime nor twin prime?

82 88 71 73 41 43 29 31

(1)	 82, 88			   (2)	 71, 73

(3)	 41, 43			   (4)	 29, 31

55. Sameer wrote six lakhs seven as 6000007 by mistake. By how much is his 
answer wrong?

(1)	 54000			   (2)	 5400000

(3)	 600007			   (4)	 5040000

56. 4
3

6
5

8
5+ +a k    = ?

(1)	 5 24
2 			   (2)	 18

13

(3)	 118
3 			   (4)	 2 24

5

57. A fencing is to be put around a square shape garden with area 625 sq.m. What 
will be the expenses for a 4 layered fencing around it, if the rate of fencing 
is Rs. 50 per meter?

(1)	 Rs. 5,000			   (2)	 Rs. 50,000

(3)	 Rs. 2,000			   (4)	 Rs. 20,000
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53. 200 À¶m eo.10 ‘YyZ 10 dOm Ho$ë¶mg {H$Vr CaVmV?

(1)	 10			   (2)	 20

(3)	 180			   (4)	 190

54. Imbrbn¡H$s H$moUVr OmoS>r OmoS>‘yihr Zmhr d gh‘yihr Zmhr?

82 88 71 73 41 43 29 31

(1)	 82,88			   (2)	 71,73

(3)	 41,43			   (4)	 29,31

55. g‘raZo "ghm bj gmV' hr g§»¶m A§H$mV {b{hVmZm Ë¶mZo MwHy$Z 6000007 Aer {b{hbr 
Va Ë¶mMo CËVa {H$Vr ’$aH$mZo MwH$bo?

(1)	 54000			   (2)	 5400000

(3)	 600007			   (4)	 5040000

56. 4
3

6
5

8
5+ +a k   = {H$Vr?

(1)	 5 24
2 			   (2)	 18

13

(3)	 118
3 			   (4)	 2 24

5

57. 625 Mm¡.‘r. joÌ’$i Agboë¶m Mm¡agmH¥$Vr ~mJobm 4 nXar Hw§$nU KmbÊ¶mgmR>r 50 ê$n¶o 
à{V ‘rQ>a XamZo {H$Vr IM© ¶oB©b?

(1)	 < 5,000 			   (2)	 < 50,000 

(3)	 < 2,000 			   (4)	 < 20,000 
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58. Under a tree plantation programme, a social welfare organisation decided to 
plant trees at 5 km distance on 100 km long road, on both the sides. How many 
trees can be planted?
(1)	 40			   (2)	 42
(3)	 20			   (4)	 21

59. Sandeep has a bundle of notes of Rs. 100 from serial number 42378 to 42432. 
If instead of Rs. 100 notes, he wants Rs. 500 notes, how many notes of  
Rs. 500 can he get?
(1)	 11			   (2)	 55
(3)	 10			   (4)	 54

60. Aditya incurred Rs. 9,500 expenditure towards travel for his Kerala trip. He 
spent Rs. 7,250 on miscelleneous expenses. How much did he spend in all 
for Kerala trip?
(1)	 Rs. sixteen thousand seven hundred and fifty.
(2)	 Rs. sixteen thousand five hundred.
(3)	 Rs. seventeen thousand two hundred and fifty.
(4)	 Rs. fifteen thousand seven hundred and fifty.

61. What is the time in the adjacent clock?

XII
XI I

X II

IX III

IV

VVII

VIII

VI

(1)	 12			   (2)	 9
(3)	 8			   	 (4)	 11
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58. EH$m godm^mdr g§ñWoZo d¥jmamonU H$m¶©H«$‘m§VJ©V 100 {H$‘r. bm§~rÀ¶m añË¶mda 5 {H$‘r 
A§Vamda EH$ ¶mà‘mUo XþV’$m© PmS>o bmdÊ¶mMo R>adbo Va EHy$U {H$Vr PmS>o bmdVm ¶oVrb?

(1)	 40			   (2)	 42

(3)	 20			   (4)	 21

59. g§XrnOdi 42378 H«$‘m§H$mnmgyZ 42432 H«$‘m§H$mn¶ªV H«$‘mZo ZmoQ>m Agbobo 100 ê$n¶m§Mo 
EH$ ~§S>b Amho. Ë¶m 100 ê$n¶m§À¶m ZmoQ>m§EodOr Ë¶m§Zm 500 ê$n¶m§À¶m ZmoQ>m hì¶m AgVrb 
Va 500 ê$n¶m§À¶m EHy$U {H$Vr ZmoQ>m ¶oVrb?

(1)	 11			   (2)	 55

(3)	 10			   (4)	 54

60. Am{XË¶bm Ho$ai ghbrbm OmÊ¶mgmR>r gmS>o ZD hOma àdmgIM© d gìdm gmV hOma 
ê$n¶o BVa IM© Pmbm Va Ë¶mMo Ho$ai ghbrgmR>r EHy$U {H$Vr ê$n¶o IM© Pmbo?

(1)	 nmdUo gVam hOma		
(2)	 gmS>o gmoim hOma

(3)	 gìdm gVam hOma		
(4)	 nmdUo gmoim hOma

61. eoOmarb KS>çmimV {H$Vr dmObo AmhoV?
XII

XI I

X II

IX III

IV

VVII

VIII

VI

(1)	 12			   (2)	 9
(3)	 8			   (4)	 11
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62. Find the perimeter of the adjoining figure if the area of every square is 1 sq. cm.

(1)	 22 cm			   (2)	 22 sq. cm.
(3)	 12 cm			   (4)	 12 sq. cm.

63. 435 × 1 * = 5 * * 0
In this multiplication, * has the same digit. Find the digit in place of *.
(1)	 0 			   (2)	 1
(3)	 2 			   (4)	 3

64. Iqbal purchased an old motorcycle at Rs. 25,000. He spent Rs. 8,500 on its 
repairs, Rs. 2,500 for its colouring and then sold it at Rs. 38,500. How much 
profit did he earn in the following transaction?
(1)	 Rs. 13,500			   (2)	 Rs. 2,500
(3)	 Rs. 2,850			   (4)	 Rs. 1,550

65. Which of the following is a correct statement?
(1)	 The sum of all angles of a square is 180°.
(2)	 The sum of all angles of a triangle is equal to right angle.
(3)	 The number of sides of a rectangle is double the number of sides of a 
	 triangle.
(4)	 The sum of all angles of a triangle is half the sum of all angles of a 
	 rectangle.
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62. Imbrb AmH¥$VrVrb àË¶oH$ Mm¡agmMo joÌ’$i 1 Mm¡. go‘r. Agë¶mg AmH¥$VrMr n[a{‘Vr 
H$mT>m.

(1)	 22 go‘r			   (2)	 22 Mm¡.go‘r.

(3)	 12 go‘r			   (4)	 12 Mm¡.go‘r.

63. 435 � 1 * = 5 * * 0

¶m JwUmH$mamV * À¶m OmJr g‘mZ A§H$ Amho Va Vmo A§H$ H$moUVm?

(1)	 0			   (2)	 1

(3)	 2			   (4)	 3

64. BH$~mbZo 25,000 ê$n¶mbm EH$ OwZr ‘moQ>agm¶H$b {dH$V KoVbr. {VÀ¶m Xþê$ñVrgmR>r  
< 8,500 d a§J XoÊ¶mgmR>r < 2,500 IM© Ho$bm d Vr JmS>r 38,500 ê$n¶mbm 
{dH$br Va ¶m ì¶dhmamV Ë¶mbm {H$Vr Z’$m Pmbm?

(1)	 < 13,500			   (2)	 < 2,500 

(3)	 < 2,850 			   (4)	 < 1,550 

65. Imbrbn¡H$s H$moUVo {dYmZ AMyH$ Amho?

(1)	 Mm¡agmÀ¶m Mmahr H$moZm§Mr ~oarO 180º AgVo.	
(2)	 {ÌH$moUmÀ¶m gd© H$moZm§À¶m ‘mnm§Mr ~oarO H$mQ>H$moZ EdT>r AgVo.

(3)	 Mm¡H$moZmÀ¶m ~mOy§Mr g§»¶m hr {ÌH$moUmÀ¶m ~mOy§À¶m g§»¶oÀ¶m XþßnQ> AgVo.

(4)	� {ÌH$moUmÀ¶m gd© H$moZm§À¶m ‘mnm§Mr ~oarO hr Mm¡H$moZmÀ¶m gd© H$moZm§À¶m ‘mnm§À¶m 
~oaOoÀ¶m {Zå‘r AgVo.
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66. Which is the greatest number?

0.91 0.899 0.090 0.900

(1)	 0.91			   (2)	 0.899

(3)	 0.090			   (4)	 0.900

67. To help the flood victims, the students of Adarsh Vidyalaya collected Rs. 47,989 
and the students of Saraswati Vidyalaya collected Rs. 8,493. From the total 
amount if Rs. 50,042 are used for domestic items and remaining amount is 
used for food packets. How much amount is spent on food packets?

(1)	 Rs. 6,340			   (2)	 Rs. 6,440

(3)	 Rs. 5,440			   (4)	 Rs. 5,340

68. Which of the following statements is correct?

(1)	 25 % = 1000
25 			  (2)	 5 % of 20 = 4

(3)	 50 % of 50 = 2.5		  (4)	 0.68 = 68 %

69. What is the diameter of a circular ground whose radius is 7.6 m?

(1)	 3.8 m			   (2)	 15.2 m

(3)	 14 m			   (4)	 7.6 m

70. 2.25 m cloth is required to stitch a shirt. How much cloth is required to stitch 
5 such shirts?

(1)	 10.75 m			   (2)	 11.25 m

(3)	 8.75 m			   (4)	 9.25 m
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66. nwT>rbn¡H$s gdm©V ‘moR>r g§»¶m H$moÊmVr?

0.91 0.899 0.090 0.900

(1)	 0.91			   (2)	 0.899
(3)	 0.090			   (4)	 0.900

67. AmXe© {dÚmb¶mZo < 47,989 d gañdVr {dÚmb¶mZo < 8,493 nyaJ«ñVm§gmR>r ‘XV{ZYr 
Jmoim Ho$bm. Ë¶mVrb < 50,042 KaJwVr dñVy§gmR>r d Cabobr a³H$‘ ImDÀ¶m nm{H$Q>m§gmR>r 
dmnabr Va ImDÀ¶m nm{H$Q>m§gmR>r {H$Vr {ZYr dmnabm?

(1)	 < 6,340 			   (2)	 < 6,440

(3)	 < 5,440 			   (4)	 < 5,340

68. Imbrbn¡H$s H$moUVo {dYmZ AMyH$ Amho?

(1)	 25% = 1000
25 			  (2)	 20 Mm eoH$S>m 5 = 4

(3)	 50 Mm eoH$S>m 50 = 2.5	 (4)	 0.68 = 68%

69. 7.6 ‘r. {ÌÁ¶m Agboë¶m dVw©imH$ma ‘¡XmZmMm ì¶mg {H$Vr?

(1)	 3.8 ‘r.			   (2)	 15.2 ‘r.	

(3)	 14 ‘r.			   (4)	 7.6 ‘r.

70. EH$ eQ>© {edÊ¶mgmR>r gìdm XmoZ ‘rQ>a H$mnS> bmJVo. Va nmM eQ>© {edÊ¶mgmR>r {H$Vr 
‘rQ>a H$mnS> bmJob?

(1)	 nmdUo AH$am			   (2)	 gìdm AH$am

(3)	 nmdUo ZD			   (4)	 gìdm ZD
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71. How much more is the number of divisors of 36, than that of divisors of 24?

(1)	 more by 1			   (2)	 more by 2

(3)	 more by 3			   (4)	 more by 4

72. What will be the consecutive number after seventy five lakhs nine thousand 
five hundred and thirty five?

(1)	 759536			   (2)	 7590535

(3)	 7509534			   (4)	 7509536

73. Under “Tree Conservation” programme, Maharashtra Government planted 8000 
trees on Amravati-Akola and Amravati-Yavatmal Highway, on both sides of the 
road. If 40 % trees are planted on Amravati-Akola highway, how many trees 
are planted on Amravati-Yavatmal highway?

(1)	 3200			   (2)	 4200

(3)	 1600			   (4)	 4800

Instruction for Question No. 74 and 75.
	 Observe the pictorial information and answer the questions.
	 In a village, people have different coloured Ration Cards.

Colour of Ration Card No. of houses

White    

Yellow    

Orange          
Scale : 1 picture = 100 houses
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71. 36 À¶m EHy$U {d^mOH$m§Mr g§»¶m hr 24 À¶m EHy$U {d^mOH$m§À¶m g§»¶onojm {H$VrZo 
OmñV Amho?

(1)	 1 Zo			   (2)	 2 Zo	

(3)	 3 Zo			   (4)	 4 Zo

72. n§À¶mhËVa bj ZD hOma nmMeo nñVrg ¶m g§»¶oZ§Va ¶oUmar H«${‘H$ g§»¶m Imbrbn¡H$s 
H$moÊmVr?

(1)	 759536			   (2)	 7590535	

(3)	 7509534			   (4)	 7509536

73. "d¥j g§dY©Z' H$m¶©H«$‘m§VJ©V ‘hmamîQ>´ emgZmZo A‘amdVr - AH$mobm d A‘amdVr - 
¶dV‘mi ¶m ‘hm‘mJmªbm XþV’$m© 8000 PmS>o bmdbr. Ë¶mn¡H$s eo. 40 PmS>o A‘amdVr - 
AH$mobm ‘hm‘mJmªbm bmdbr. Va A‘amdVr - ¶dV‘mi ‘hm‘mJmªbm {H$Vr PmS>o bmdbr?

(1)	 3200			   (2)	 4200	

(3)	 1600			   (4)	 4800

àíZ H«$. 74 d 75 gmR>r gyMZm - 
	 Imbrb {MÌê$n ‘m{hVrÀ¶m AmYmao àíZm§Mr CËVao {bhm.
	 EH$m IoS>çmVrb H$mhr Kam§‘Ü¶o Imbr {Xboë¶m a§Jm§Mr aoeZH$mS>© AmhoV.

aoeZH$mS>m©Mm a§J Kam§Mr g§»¶m

nm§T>am$
 

{ndim$    

Ho$ear$          

	 à‘mU - 1 {MÌ = 100 Kao
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74. What is the number of houses that have orange colour card?

(1)	 800			   (2)	 400

(3)	 200			   (4)	 600

75. How many times is the number of houses with white card to that of the number 
of houses with yellow and orange colour card?

(1)	 3 times			   (2)	 3
1  times

(3)	 Double			   (4)	 2
1  times
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74. Ho$ear aoeZH$mS>© Agboë¶m Kam§Mr EHy$U g§»¶m {H$Vr? 

(1)	 800			   (2)	 400

(3)	 200			   (4)	 600

75. nm§T>ao aoeZH$mS>© Agboë¶m Kam§Mr g§»¶m hr {ndio d Ho$ear aoeZH$mS>© Agboë¶m Kam§À¶m 
g§»¶oÀ¶m {H$Vr nQ> Amho?

(1)	 3 nQ>			   (2)	 3
1  nQ>	

(3)	 XþßnQ>			   (4)	 2
1  nQ>
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